1. (15 points) Solve the following systems of linear equations by using the inverse

matrix method.
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2. Use Gauss Jordan elimination to bring the following augmented matrix into their
row reduced echelon form. Write the solution set for the corresponding systems. Find two
particular solutions for the system if there exist more than one solution. Determine if the

system is consistent, inconsistent, dependent or independent.
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b-) (10 points) Let X be a 3 x 2 matrix. Find X if
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A list of formulas: [ = Prt; A= P(1+rt)
A=P(1+i" APY =(1+L)"—1; A= Pe™ APYoony =€ — 1
FV = pMT=U, py — ppTE=UH™ where s = = and n = mt

3. (a) (10 points) Which of the following options would you choose to invest your money?

A= futue \ole
P = present wlue

e (option 1) 7.8% compounded annually
e (option 2) 7.4% compounded continuously

e (option 3) 7.5% compounded quarterly
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(b) (10 pomts) If you choose (op‘mon 3) how many years will it take for your money to triple?
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4. (15 points) Serpil put 100T1, every month in a retirement fund for a year. Then she
got promoted and increased the money she put into the account to 150TL for the next two

years. How much will she have in the account at the end of this 3 year period if the account

earns 9% compounded monthly. ,
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5. A couple purchased a house today for 100.000TL signing a 20-vear mortgage at 12%
compounded monthly.
(a) (10 points) If they sell the house ten years later for 120.000TL, how much would they

receive after paying off their debt to the bank?
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(b) (10 points) How much interest did they pay in the tenth year? 132
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